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FREEBOARD VERIF ICATION‘ FORM FOR STEAMERS,

/g ‘ (When received in London Office ...
Vessel's Name %& mMu //F/WM&//L 457&7)/ %ﬂ “5/)
Official No. Qgvr 57~ No. in Reg. Book Nees Vi1TA

Port of Registrifjl or Foreign Vessels) /M—L
Tron or Steel /&;X State whether Classed b} Lloyd’s Register /ﬂ /}1 /474;1,«.5, 671

Name of Owners /ﬂ»‘du /[w,a« Date (iVulﬁcatlon /f)@'ngf /?/7

By S<al
Ll [ ) I have to report that thc Fleebom d from the centre of dise to the top of the

statutory deck line, and the lines in connection therewith, as given below, assigned
by the Committee to this vessel, have been correctly marked on the vessel's sides,

in accordance with the printed instructions :—

From centre of dise to top of statutory deck line = -
» . el . . o
From centre of disc to top of statutory deck line} : 3 L
: : : J k. &£ins, J
at awning Se-patt=aWInny g . )
2 Y
Fresh water line above centre of dise . . . 7 ins. 3
. . [ . %
Indian Summer line above centre of dise . . : 2_ ns, »
v e \~‘ -
Winter line below centre of dise . . . . Lm‘ b\
me%nmb THe ULLU\\ TCOITITC O 1S¢ ; 1118, N\,:
W

Distance between the top of statutory deck
line on vessel’s side and the intersec-
tion of the continuation of upper side of

waod-or ipefl deck with the vessel’s side S at awning (9-1‘—1949—&%"}111'!0‘ dk. /'('/- ns. ‘*\\‘K

I\TOTE —1It should be clejrlv shown whether the statutory deck line is sct off from a wood or iron deck

K rph ¥ 1L herwdle . ) n aegund K PetalS .
st e (1A /?7/%0 1641 L et 18° A8 /9,/ R\
./7 i Surveyor.

(%o be filled up in London Office.)
Statement No. ~ Date of Committee’s Mmutc ke %9 - L O/'

Moulded Depth . . . G e 0 _1us.

Particulars for Record 5,4.
{ s o \
3 Lemstel Book Freeboged .© ..o o ; St ns.

‘  Cosespgniing Dm“% il ok e
Freeboards compgred and found correct by - W w17 P | ?
- ‘?f?ﬁ,orm for Certificate %

ZM e spar—ot Ltllllbﬁll\ s L 4__inS.

Is fee paid ?

Instructions. i g \
Certificate written :)7)/ C‘/‘ g Noted for posting &gﬂ
2m318—1I. \JUAY A LI |

: 009/82 - =914/ .1 g120.8 |



